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Four possible answors A, B, C and D to oach (uastion
aro given. The cholce which you think s correct, fill that
circle in front of that question with Marker or Pen Ink In
the answer-book. Culting or filling two or more clrclos will
result In zero mark in that question. .

Which of the following molecules has zoro dipole
moment:

(@) NH, (b) CHC/,

(c) H,0 (d) CO, v

NH, shows maximum boiling point among the
hydrides of Vth group elomont duo to: '

(@) Very small size of nitrogen

(b) Lone pair of electrons on nitrogon
(c) Enhanced electronegative charactor of nitrogen, v
(d) Pyramidal structure of NH, ﬁ

Approximate pH of apple is:

(a) 2.7 (b) 8.1 v

(c) 4.2 (d) 4.5 |

27 g of A/ will react complotely with how much mass
of O, to produce A/,0,:

~(a) 8g of oxygen (b) 16 g of oxygen

(c) 32 g of oxygen (d) 24 g of oxygen v
The rate of reaction:

' (a) Increasos as reaction proceods.
(b) Decreases as reactlon proceeds v

(c) Remains same as reaction proceeds :
(d) May decrease or incronso as reaction proceeds
When 6d orbital Is comploto, tho ontering electron

goes into:
(a) 7s (b) 7p V
(c) 7d | (d) 7f
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' Equal masses of methane and oxygen are mixed in an

empty container ‘at 25°C. -The fraction of total

~ pressure exerted by oxygen is:’

(a)%w_/ . tb)%’

(c) | ) g2 17

The number of moles of CO whu:h contain 8. 0 g of
oxygen:

@o02svy (b)050

() 1.0 _ (d) 1.50

If an endothermlc reactlon is allowed to take place
.very rapldly in an air, the temperature of surroundmg

air: .
* (a) Remains same ~(b).Increases
* (c) Decreases ¥ . (d) Remains unchanged
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An aqueous solution of ethanol m water may have

- vapour pressure:

(a) Equalto water

. (b) More than that of water v

(c) Equal to ethanol

- (d) Less than that of water _
The number of bonds in nitrogen molecule is:

" (a) One'candonen °(b) Onecandtwon v -

: (c) Threeconly = (d) Two ¢ and one T
Geometry of diamond i |s

(a) Tetragonal - (b) Cubic 1/ |

(c) Rhombohedral - - * (d) None of these
Oxidation number of chromium in Cr 0308t
fa) i+l - (b) +2

(6) ¥3 Vs cir s (d) +4

In the ground state of an atom the electrons are.

present:

. (a) Inthe nucleus -

(b) In.second shell

() Nearesttothe nucleus v = .

(d) Farthest from the nucleus
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The chromatography in which stationary phase is
liquid is called: -

(a) Thin layer chromatography
(b) Partition chromatography v
(c) Adsorption chromatography
(d) Gel chromatography

The pH of human blood is maintained at:

(@) 7.35 v p (b) 7.53

(c} 7.63 , (d) 7.73

Ideal solutions cbey: )

~(a) Henry's law (b) Avogadro’s law
(c) Raoultslaw v~ . (d) Smith’s law
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